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MASTER OF ARTS (ECONOMICS)
Term-End Examination

June, 2022

MEC-105 : INDIAN ECONOMIC POLICY

Time : 3 hours Maximum Marks : 100

Note: Attempt questions from each section as per
instructions given.

SECTION A

Attempt any two of the following questions in about
700 words each. 2x20=40

1. What is the rationale for improving agronomic
practices in India ? What role can private sector
play in this regard ?

2. What is the role of demand constraints in
slowing down India’s industrial development ?

3. Discuss the social security legislations enacted
in India for improving worker well-being.
Comment on its inter-linkage with inequality.

4. “Investment has a two-way relation with
economic growth.” In the light of this statement,
outline the limitations of fiscal multipliers in
stimulating GDP growth.
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SECTION B

Attempt any five of the following questions in about
300 words each. 5x12=60

5. Have policy changes in tariff and tax made Indian
services more competitive ? Discuss it in the
context of tourism and healthcare sector.

6. How has Mahalanobis model redesigned
development thinking in India ? Comment on the
need for an active role of the State.

7. Critically evaluate the role of Public Interest
Litigation (PIL) in promoting public goods and
good governance in India.

8. Examine the trends in India’s female labourforce
participation rates. What explains its decline in
India ?

9. How is quality of life and formal employment
inter-linked ? Discuss it in the Indian context
with empirical evidence.

10. Why is there a need for Corporate debt market in
India ? Discuss.

11. “Growth of external debt is a far more serious
matter than internal debt.” Do you agree with
this statement ? Why ?

12. In the context of India’s Tax-GDP ratio, answer
the following :

(a)  Role of Direct and Indirect taxes

(b) Comparison of India’s Tax-GDP Ratio with
that of Asian developing economies
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TR A B 17 T A9 39 YT | HEhd 3 3N
w1 2

12. 9T % H-HHA = 3G (GDP) % I
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